B

ABHBEORRAEEFEOSZE (200 0F1 A5

By R (RS 2 (s — %)

(1995 E100)
R OAED XD EH AT
B A Bk B4 bR & DIEH
i I 14 93. 7 2.0 ' -3.7 ' 92. 6
A 1 S 111. 4 0.7 3. 107. 1
it % & & 86. 7 1.8 8.1 86. 4
&=F - FES an. 0 2.0 -0. 3 88. 3
— M % == 100, 3 0.8 -2. 9 100, 1
T RO 8 84. 8 1.0 6. 4 82. 6
% B Ot EE 103. 0 B. —4, 103. 0
5B f = 95, 1 1. -4, 7 94. 7
F (Dt TSR, 102. 9 1.6 -6, 101. 3
B CHHESE B (e 1) (995 T 100)
R OoAFARC&BZEH AR
Bl bk B4 EE L2
i s el 103. 2 2. 2% 4. ?% 102. 0
o L G ) 93. 3 1.0 -10.6 92. 7
A 1 S 104. 8 0. 6 6. 1 101. 0
& & -F #H & 98, 2 3. 5. 7 95, 5
N 7 A 86.5 3.6 -4, 1) 86. 4
T e RIAN 140. 9 3.7 52. 8 140. 8
it 2 & & 93. 8 1.2 -1.1 92, 6
o 2 B 92. 0 1.0 ~7. 4 0. 8
T OfER - H5 101. 1 1.9 4.5 98. 5




el iits R (AT Ha)

(1995 HE100)
N N - - - S-S - B InEFaC L Sk

OE g oHr m B M g F Ek MoEs B oo
tt 5 | 75 | s | rm KL | B e

L] [ L] [ L] [

A = g986.3| 93.7| 103.2 0.3 2.0 22| -0.3| -3.7 47| 81| 9268|1020
I F &84 95.0| 93.7| 934 0.3 2.0 1.3 -0.9| -3.7| -3.1| 9o5.8] 92.6| 9.8
fin T & &4 1024 — | 9.4 -0.1 — 0.4| -0.8 — | -10.7 | 102.9 — | =8

f 4 m OB 1012 111.4] 1083 0.4 0.7 0.4 -1.8 30| -5.8| 99.9| 107.1 ] 1022

gufd - RESL 939 — | 7.8 0.5 — 3.4 -0.8 — | 5.0 @39 — | &7

woaT dEeEME 95T TT.E] 9007 n.z 3.2 3.3 n.s| -3.2 9.5 5.6 | TT.6 (| 89.5

fEE &S] ors| s.7] 93.8 0.3 1.8 1.2 2.0 g1 -1.1| 97.3| 36.4| 928

eS| 995 | 107.6 | 100.6 0.3 1.1 1.3 0.1 -4.3 4.8 92.4)] 105.5 | 100.6

Ail-EmB&Rl 1201 92.2] 141.9 0.7 -0.9( -0.8 153 -9.9 ] 24.7| 119.9]| 85 .4 | 140.1

ME- A& 951 96,3 | 110.6 0.1 n.49 .0 -Z.0| 83| -5.4 7.8 | 91.9 (| 105.5

ik i 92.3| &T.3| 8T.2 0.3 2.6 0.8 -0.5 g0 -EE 91.9| S4.2 (| 86.5

I B| ol ss5.2] 1029 1.6 1.5 ] 56| 22| 147 949 s8.0| 1024

= B &8 &S] 9.8 1039 111.4 0.0 0.8 0.s| -1.5| -4.2| -4.0| 9857|1037 1098

— #% 4# 2% 93.8| 100.3) 107.0 0.z 0.5 23| -1.8| -z.9| -6.2| @5.8| 1001 1065

TS EE| szo0| s4a| sd.e 0.1 1.0 1.0 -4.3| 6.4 -T.9 dl.4] d£.6| 83.1

EioEAEAEE | 95.8 | 103.0| 102.9 1.2 5.5 0.z -2.2| -4.8| -4.5| 95.4]|103.0] 1003

W oom 4 & or.8| os.1)] e85 0.4 1.4 1.0 -3.0| -47|-11.7T| 97.5] 94.7| 969

ot TRMa] 1008 [ 111.9 | 106.1 0.1 1.7 1.8 1.7 5.7 —8.1 | 100.6 ) 112.0 [ 102.3

BAHAED| o923 — | &9 -1.8 — La| -3.7 — | -9.1| %22 — | &e.7
AHEME A Es] 941 — | 9z.a| 2.3 — | 04| -38 — | -11.1 | 941 — | 9z.1
e s | 533 —| maes| =2s — | 41| -arT —| 57| &3¢z — | Ta.s
HOE M | 1s1 — | 1315 3.4 — 44| 3.7 — | 43.3| 1182 — | 1317
Sh-r k| 980 — — 0.8 — — | -0.4 — — | @0 — —

s B B T R T3.0 — | 86.4 0.7 — 3.5| 10.9 — 20| T2.B — | &3z




TEFRPER - FBliEH (Er&EFEORHER)

(1995¢FH=100)

MR OAFRIL X BEHE AT
s DA giaE bR X LigHy
% %
M oE B B 96, 7 0.2 0.1 96, 6
N 103. 2 5 7 47 102, 0
= B # ¥ 105. 8 2.0 15. 6 105. 9
B A 5 117. 6 1.1 32. 6 117.7
T HEE 104, 7 2.0 18. 8 104, 7
& A 115. 4 3.7 32. 0 115. 4
B2 A o4 38. 3 0.0 5.5 88. 2
| & » & 107. 3 0.5 1.3 102. 6
i i 127. 0 i 33. 3 127. 0
[ & 7 5 130, 3 6.0 36, 7 130. 3
BB B 96. 6 0.3 0.3 96. 5
| @ 7 & 97. 1 5,2 1.4 96, 1
=2 E 94,5 0.2 -0, 7 94. 4
| & 2 & 95, 7 7. 4 1.9 94, 2
# i M 97. 7 0.1 -0. 9 97. 7
| & » & 94. 4 5.5 1.6 93. 9
W - & h 103. 2 0.9 5,4 103. 2
| & » & 130. 6 1.1 18. 0 128, 4
+ M fit R B 100. 2 0.1 0.0 100, 2
- B A 5 114. 4 0.7 7.9 111.5
= 2 H 95. 9 —0.1 1.4 95, 7
| & » & 99. 4 0.6 7.0 97. 4
g F H 93, 8 -0, 1 -2.10) 93, 7
| % » & 90. 6 0.9 6. 8 29. 1
N 96. 9 0.2 1.3 96. 7
| % A & 103.1 0.5 7.0 100, 8
Mt 24 18 & Hf 27. 1 -0.1 -3. 0 26, 9
| &% A & 97. 7 0.6 6.3 95. 5
JE M AW & 101. 0 0. 2 0. 7 100, 8
TN 105, 4 0.5 -7.3 103. 0
B H M 93. 7 2. 0 -3. 7 92. §
) 90. 7 1.3 -1.1 28. 5
# O H o % 92, 9 1.5 -3. 7 91. 7
g 7. GE] 96. 7 1.7 -4, 6 96. 5
HE = it 95, 2 4.7 6. 8 94. §
Mt A 6 & B 95, 7 4.7 6. 7 94, 4
ESCEX 95, 7 1.3 -9. 3 95. 6
(Z &)
SENN-E 97, 4 0. 4 1.6 97. 3
EEMN 2 0 95. 0 0.0 -1. 7 94, 9
T 90. 8 1.3 1.3 88. 6




